www. st udent s. na

LY walic
N 1Y
l,+2¢ <21
C,H,,0, +H,0 < C,H,,0, +2H" +2e~ -1

l,+C,H,,0, > 21 +C,H,,0, +2H"
odleal) A8k slalie) Sy 22
oWl PR agdll AU S 5 el &3

70°C (38 52 3 Aadial) 5°C (38 53 2 siaall 25°C (3819 1 inial) -4
220k e

-1
Ce¢, +C,Hgy —>C_, H,C¢+ HC/¢ Jelidl) dlalas
Balall cilgas pdil [ )
n,(C7,) n,(C,Hy;) 0 0 0 ST
n,(C?,)—x Ny (C,Hg) — X X X X N
No(Cly) =X No(CrHg) — X X max X X max g

n(C/ n,(Cr,)—x
[ng]t - ( Z)t 4 0( 2)
\% \% =2

> X:no(ng)_[ng]tV
_1dx_1dcrlv) dfer]

v(t) -3
Vd VvV dt dt
Ol AN aaal) de ) dad (8L -4
X n,(C?,)
N, (C¢,)— —= M, (Cr,)— 22
[Cf] _nO(CEZ)_Xllz_ 0( 2) vy O( 2) 2 _no(Céz) -5
202 — V . V e V = ZV
s 3 e
-2
S SM 90107 .
t, -t, 0,03
SM =31 ¥ Ushll b @ds o Ol M 39S -2
/I:ﬁz?;Ocm -3
3
f=Y-100Hz -4
A

d=v*t'=30*0,045=135m=135cm =4ﬂ+% D A As ghia) ALl -5

o)
M
1+§@u@ﬁﬁwm‘g”u\géwsmuxa@ﬂ\hm3m -6
Ao

Agaad) 3 aUAL o adll us AN -1
HZL =2

2D
a=2P*_110%m 3

L

-4

www. st udent s. na



WwW. st udent s. na

AP

A i=506 nm
n

r=A=30° ¢3 r=0 5 i=0
sini’=nsinr’ = i’'=sin"(nsinr’) = 41,48°

www. st udent s. na

-1-4
-2-4

:3-4
-4-4

-5-4



